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1) (40=8)+2x12-9 = 20
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2) 40+ (8 +2)x12-9 = 39
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1) (12x70) + 10 + 2,517 = |_|

35311 (12 x 70) + 10 + 2,517 = 840 + 10 + 2,517

= 84 + 2,517

= 2,601
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35311 (12 x 70) + 10 + 2,517 = 840 + 10 + 2,517
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2) 2,420 + 11 + 9 x (120 - 95) = [_]

25911 2,420 + 11 + 9 x(120 - 95) = 2,420 + 11 + 9 x 25

=220 + 9 x 25

= 220 + 225

= 445




2) 2,420 + 11 + 9 x (120 - 95) = [ ]

35911 2,420 + 11 + 9 x(120 = 95) = 2,420 + 11 + 9 x 25

=220 +9 X 25

= 220 + 225
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800 + 5 x 10 = 4. 1,254 — (450 + 226) + 2 =
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1) 55+800+5x10=/[]
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/N1 55+ 800 +5x10 = 55 +160 x 10

= 55+ 1,600

= 1,655
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